Sonnet 116 by William Shakespeare
1. What is the form of the poem and how is it structured? Why did Shakespeare choose this particular form?
2. What is the poem about? Explain the argument made in each quatrain and the final couplet.
3. When he refers to 'impediments' in line 2, what is he referring to?

4. What is the effect of enjambment in the first two lines?

5. Make a list of pairs of words used in the first four lines, e.g. 'love is not love'. What is the effect of mirroring of words?

6. Give an example of alliteration  in the first quatrain. What is the effect

7. Make a list of opposites or negatives used to stress the qualities of love by saying what love is not, such as 'Love's not Time's fool'.

8. Shakespeare uses metaphors based on natural elements so that love is presented as an essential part of our physical world. make a list of examples.
9. Give examples of personification in the poem.
10. Give examples that make love sound enduring, constant and timeless.
11. Give examples of how Shakespeare shows the great power of love through using language associated with extremes.
12. The poem ends with a defensive challenge. Explain what it means.
13. What is the tone of the poem?
14. What is your personal response to the poem and its definition of true love?
